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+q=+10"°C, v,=1.00x10’m/s, 6=37.0°

+ _ Let us compute the maximum height.
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which is much less than D = 10.0 mm. Hence it will hit the lower plate. To get where at

Heww del5 0 "'%mkﬁ fyfé,)

the lower plate it will hit, bete~e €205mes ) P
\ ‘r”
1 1 gF
Y=Y, tV, bt at’ =>0=0+v, sm@t——g—t =0=tv sm@—EIJ
27 m ___— 2m
< o . m——— '“’w‘/
A - . 29
t= (v 51n9)2—m S0 x =v_t=v,cos0t =V, cos@v sin " mv sin WW\\' ‘\B\ff(nw\
qE ,t_qE qE I
16{1n-5 ¥ 0
_ 2.00x10 (160 [ sin2-37 )=9.61><10‘4 = 0.961mm from
107%(2000)
starting point

DO RA 8 CPS QUESTION #1

TURN OFF KEYPADS!!!

II. Electric Field Lines:




